
= mN•m = cN•m = N•m = ozf•in = lbf•in = lbf•ft = gf•cm = kgf•cm (kp•cm) = kgf•m (kp•m)

1 mN•m 1 0.1 0.001 0.142 0.009 0.0007 10.2 0.01 0.0001

1 cN•m 10 1 0.01 1.416 0.088 0.007 102 0.102 0.001

1 N•m 1000 100 1 141.6 8.851 0.738 10197 10.2 0.102

1 ozf•in 7.062 0.706 0.007 1 0.0625 0.005 72 0.072 0.0007

1 lbf•in 113 11.3 0.113 16 1 0.083 1152.1 1.152 0.0115

1 lbf•ft 1356 135.6 1.356 192 12 1 13826 13.83 0.138

1 gf•cm 0.098 0.01 0.0001 0.014 0.0009 0.00007 1 0.001 0.00001

1 kgf•cm (kp•cm) 98.07 9.807 0.098 13.89 0.868 0.072 1000 1 0.01

1 kgf•m (kp•m) 9807 980.7 9.807 1389 86.8 7.233 100000 100 1

Given unit

TORQUE – CONVERTER

        Desired unit

1. Enter the value in the left window
and select the given unit.

2. Select the desired unit
in the right window and click on
CALCULATE.

3. Reset the unit calculator for a new 
calculation with DELETE.
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